ZHET DB

1 AODER
AOESSYRLEE
HAF1604E(19854F) 264 (20144F)
=N s P
B 75~ 19 i B 75 ~ Ty 1%
[ 70 ~ 71450 ] 70 ~ T
| 65 ~ oy o5 ~ 69
| 60 ~ 64 60 ~ 64
55 ~ SgN 55 ~ 59
| 50 ~ 54 50 ~ 54
| 45 ~ 49 45 ~ 49§
40 ~ 44 | 40 ~ 4
[ 35 ~ S, | 35~ 3
' o] - PR
20 ~ 24 [ 20 ~ 24N
| 15 ~ 19 | 15~ w\\\}\%}
10 ~ 14 o 10 ~ 14
| 0~ ! b TR
I 0~4 k I 0~4 \\‘\\\q |
A OB CER264108 1 HR) B A
— B 1 RIE_
PNEE:T 14,984 7319 7.665
65@ LI EAD 4,604 1,922 2.682
30.7 26.3 35 0
(AL %) 701l roavll e
HEH 5,343 [716,124]
—HE AR 2.80 [2.54]
[ IAR=ER
ADEVRE CEAR26E) REERR Bifi: A
Bt E:LES ZtE
& 93 52 41
A 200 102 08
HEEADFH) 6.21 [7.54]
RrEADFH) 13.35 [10.73]
[ IRIZ=ER
SRS HIAODHER BT A “«
FRC12%F | T RC1T12E | K227 | 26 2 @;\ & @* é& &
= (20004) | (2005%) | 2010%) | (20145F)|] ¥ &% &Y &% «
0~14 2479 2171 1,935 1,923 -
15~64 9686 | 10084 8961 ] 8332 | DO~ DIS~GR oGSRALE |
ss_ﬁui 3,476 3,885 4417 4,604
2 FFREDKNT
A CAAE (T RL264F) B3 _ B A
HER ARECB (BB) ey | BEM | ER | EEE
| BEAFER LR BT | 4% HE
EZ 1] 93 17 1 1 4 3 55 16
[E] [6.2] [183]] [108]] [108]] [412]] [32.3] [3.7] [1.1]
=51 13,727 1,330 27 15 308 60 8,555 3,098
[EE] [7.5] [9.7] [2.0] [1.1] [21.9] [4.4] [4.7] [1.7]

HERAOFH) . BEFER(HEEHN) . FLREC-FHER (HETF)
FEREE (HETX) . BEMET (HAET) .| 15E- 8% AOFx)




O E E

Wi~ w AHERHERDER ALRFECROHED
1% | 26

EX 10 131 139 mmzms
ﬁu A ACEES30) S [

% X7 1.93 3.99 ]
E_isi 4.17 & 1.50 1.40 1.30 1.20 a s ar .00 2.00 4.00 6.00
o=ER
BHERHERD#RS HRFECEDHD
1.60 — 4 120
1.40 T2 "Hﬁ - 10.0
150 e 80
0.80 6.0
0.60 40
o2 SSEE | 20
000 ‘ I l ‘ === % H22 H23  H24 I H25 f H26
H22 H23 H24 H25 H26
| —a—sun # i
HMEE-EXEERHEROED memeZER | FEMECEDNER
(HETF)
%gg 40.0
: o HEFR(A
189 == B | o A
100 pym—\ 200
80 5 = = BHFER 11.4 /
gg (HEBER) | 100 m
20 Optt=O = ---9[--0
0.0 L L L L 0.0 L . . 95
H22 H23 H24 H25 H26 F ;; H22 H23 H24 H25 H26 £
3 XLDKR
FRABETE AB105 %t 40B~6ARICHITHEFBIEBRETE
. Br =E | ) . ADO10%5%
1492 753 i & ZE
BALH LY [1 g; g] r§1] 21 % 4 251.0 2.9
- : : = 200 26361 1376
e [
" : : P22~ 264 B3
i B 2R 28 (4291 2511
: 9.5 46
e e
: : i
& B [7.7] [29] EZL 13 8 5
P 55 7.0 AC1055 17.1 216 12.8
[6.2] [3.2] = 1} 1,]753 12271:13 1512?'
79 T5 AC105% . . .
s mE el s
ERR22~265ER 5
TR2~6ERE (ERMEIRAG0ETT LA D EER)
[ IRR=ER

FHPBRTE (TM2~265F R 1) (Bit) OZGE O=ER (&)

T 513:?5 AR
’_m,b % 8 @I
m mngs SN

P

2 100 150
Pa—— \m\\\\‘&ﬂ
| | | Ny & » :

LYYW, &
SN » = N

10 8 6 4 2 0 0 2 4 6 8




FERRBERCROFERER

200.0 Hig Eo )]
00.0
150.0 ﬂA A
v ~ ::"150.0
100.0
N _.—’*9“\~-- "~ —etee iy (1000
50.0 —"‘ﬁ_ . ---*
& ¢ o= X w'o ”*---
0.0 ‘ 1 1 1 ' 1 3 =« EOE 00 g- 1' - 14"'.(.%-.'&
200 — H22  H23  H24  H25  H26 H22  H23  H24  H25  H26
- —— X 50
150 \ X = 150
* - wpe e T
100 / ‘\ & [100
R - e HR
5.0 * % % |50
)(—'.’- . .‘\‘*. R e — » B
00 L VI E oo
H22 H23 H24 H25 H26
SMR(RE{LFETH)




